OCHOBHble XapPaKTepPUCTUKn:

1.
2.
3.
4.

OgHoBpeMeHHOe HaXaTue 26 Knasuw
MynsTUMeauiiHbIe Knasuwmn

7 uBeTOB NOACBETKN

Perynupyembiii pexxmm noacBeTkU

¢yHKU,MOHaI1beIe Knasuuin

1.

NoOU AWM

FN+ESC: pexxum noacseTkun
(0BbluHbINA/ApKMI/cnabblit/BbiKA.)
FN+F1: yactoTa nosTopos = 21 cums./c
FN+F2: yactora nostopos = 30 cums./c
FN+F3: yactoTa noBTOpOB = 62 CMB./C
FN+F11: 610KMpOBKa KNaBULL

. FN+F12: 6n10kupoBka Windows
. MynbTmeamnitHble KNasuLum
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o WHTepHeT-6paysep

= Moi1 KomnbloTep

= MouTa

- Monck

- MOHMKEHME YPOBHS 3BYKa
o MoBblleHMe yPOBHA 3BYKa
@ OTK/IOYeHMe 3BYKa

I Hasag

I BocnpoussesaeHue 1 naysa
PPl [anee







